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‘Gracunas Formula' is associated
with which principle of
organisation among the following ?
(1) Hierarchy

(2) Span of attention

(3) Unity of command

(4) Division of work

Who among the following is a
strong supporter of the principle of
unity of command ?

(1) Henry Fayol
(2) Max Weber
(3) Willouby

(4) Herbert Simon

Key to Managerial functions in
Public Administration is

(1) Authority
(2) Responsibility
(3) Hierarchy
(4) Delegation

Which of the followings is/are
limitation of delegation in
Administrative organisations ?

(1) Specific condition
(2) Nature of job

(3) Communication
(4) All of these

Who among the following thinkers
emphasised that ‘co-ordination 1is
the first principle of organisation’ ?

(1) George Terry

(2) J.D. Mooney

(3) Luther Gulick
(4) Chester Barnard

59



10.

59

ficle & sgar wEEe 61 & =
AehrIehi Sl el BT 3 :

(1) 9%

(2) 9=

B 3

4) @

“3t F© off TR HH I H S FE
w2, 9t @i A g 1w Al H
It IRy P g T R ¢

(1) T AEH

(2) UTHg AR. 7

(3) f=Euw

(4) = . el

FEAT THAT TH TEaqul < §, S
Ffga s -

(1) < Hifs g g

S RSICEIRRERICOER
(8) < Hifa e |
(4) @ Hifa favayor &

TR-TRHI Tied @i Aifa i 3q wfwn
T Al yitent % fralg @ @

1) e d

(2) Traraz= gfem o

(3) Trequr aen freA @ 1

@ THIBE S

p——— P S S S| —— T — et Syt i Se—— § $—

10.

Cabinet Secretariat in India, is
a/an

(1) Line Agency

(2) Staff Agency

(3) Auxiliary Institution
(4) Autonomous Body

According to Millet the total
number of methods or techniques
of supervision are :

(1) Four
(2) Five
(38) Six
(4) Seven

“Whatever government chooses to
do or not to do, is public policy.”
The above definition of public
policy has been given by :

(1) Robert Eienstein
(2) Thomas R. Dye
(3) Richard Rose

(4) Karl J. Frederick

‘Collection of information’ i1s a
stage involved in :

(1) Public Policy Formulation

(2) Public Policy Implementation
(3) Public Policy Evaluation

(4) Public Policy Analysis

The Non-governmental Organi-

sations play important role in the

process of Public Policy :

(1) Formulation

(2) Implementation

(3) Both Formulation
Implementation

(4) None of these

and
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The Annual Financial Statement
(Budget) is presented before the
Parliament by the Finance
Minister under :
(1) Article 110
(2) Article 111
(3) Article 112
(4) Article 122

Which one among the following
looks after matters pertaining
to Budget of the Government of
India ?

(1) Ministry of Finance

(2) Ministry of Industries

(3) Finance Commission of India
(4) NIT1T Aayog

A Financial Bill passed by the Lok
Sabha can be withheld by the
Rajya Sabha for a maximum
period of :

(1) 12 days

(2) 22 days

(3) 24 days

(4) 14 days

According to Max Weber the basis
of Bureaucracy’s functioning is :

(1) Charismatic Authority
(2) Traditional Authority

(3) Political Authority

(4) Legal Rational Authority

Filling up of higher posts in
organisation, through promotion of
existing employees is known as

(1) Direct Recruitment

(2) Indirect Recruitment
(3) Diagonal Recruitment
(4) External Recruitment
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Which one among the following is
essential to bring changes in
attitudes and values of personnel
in Public Services ?

(1) Classification of Posts

(2) Recruitment

(3) Training

(4) Promotion

When was the ‘Sandwich Training
Programme’ for Public Services
started in India ?

(1) 1969

2) 1970

(3) 1973

4 1975

‘Standardization of work methods’
in organisational management has
been advocated by the :

(1) Scientific Management Theory
(2) Human Relations Theory

(3) Behavioural Approach

(4) Motivational Theory

Who among the following has been
main propounder of the Human
Relations Management Theory of
Organisation ?

(1) F.W. Taylor

(2) Elton Mayo

(3) Chester Barnard

(4) William Dickson

Which scholar has assigned the
classical principles of Public
Administration as ‘Proverbs’ ?

(1) Herbert Simon
(2) Henry Fayol

(8) Woodrow Wilson
(4) Chester Barnard
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‘The Ideal type of Bureaucratic
Model’ for effective functioning of
Administrative Organisations has
been generated by :

(1) Peter Blau

(2) Karl Marx

(3) Max Weber

(4) L. Urwick

Who among the following thinkers
has given ‘One Best Way' of doing
work in the organisation ?

(1) Henry Fayol

(2) F.W. Taylor

(3) Elton Mayo

(49) Willoughby

Which one of the following steps
does not find place in Simon’s
decision making model ?

(1) Intelligence

(2) Design

(3) Choice

(4) Reaction

Which one of the following is not a

type of communication in

administration ?

(1) Downward Communication

(2) Upward Communication

(8) Sideward/Across
Communication

(4) Parallel Communication

‘Participative Management’ is a

good example for

(1) Democratic Leadership

(2) Autocratic Leadership

(3) Functional Leadership

(4) Impersonal Leadership

The two factor theory of motivation
has been propounded by the scholar
(1) McGregor

(2) Herzberg

(3) Maslow

(4) Peter Drucker

59



27.

28.

29,

30.

31.

59

Frifed # @ *i9-T1 T JREROT i
Rrgr Qua. dee g T g 2
() g XamfagayY

(2) femes fagma

(3) INETEHAl yea g

(4) TR quT B! g

G SRR Al s yriv g 2
(1) 1sm=ig
2 178«
(3) 13T
(4) 3iu=d

fpafafge # @ ®F FFR-gipios @
FAUE AT W TR § ?

(1) AR T

(2) ik Hififes S=EA

(3) Topma gomEA

(4) qOIHS Tl TTE

fefifaga 4 @ =9-a1 = fagm
TS Al SSE 1 ar (S9%)
AT SR ?

(1) e fom
(2) el oo
(@) Fa
(1) T=EAww

FraafeRea o @ < wnea 6w
T IEH-39E 9 ae-3E
TR R ?

(1) TS Wi IS

(2) fawm v

(3) UG SeTH

(4) @ Hifd e e

- — - — — Y rri— - ey b — T —

21.

28.

I 29,

30.

Which one of the following Theory
of Motivation has been given by
A.H. Maslow ?

(1) Theory X and Theory Y

(2) Two Factor Theory

(3) Need Hierarchy Theory

(4) Carrot and Stick Theory

In India, Financial year of
Government begins from :

(1) 1st January

(2) 1st July

(3) 1st April

(4) 31st March

Which of the following 1is

concerned with cross-cultural and

cross-national studies ?

(1) Indian Administration

(2) Public Personnel
Administration

(3) Development Administration

(49 Comparative Public
Administration

Which one of the following scholars is

considered as the father of

Comparative Public Administration ?

(1) Fred Riggs

(2) Frederick Taylor
(3) Ferrel Heady

(4) Richard Gable

Which of the following branch of

Public Administration is concerned

with change-oriented and goal-

oriented objectives ?

(1) Comparative Public
Administration

(2) Development Administration

(3) International Administration

(4) Public Policy and Governance
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In simple words ‘Administrative

Development’ means :

(1) Promotion of employees on
higher posts

(2) Transfer of employees to
assume new responsibilities

(3) To increase internal capacity

of the existing administrative

system to accomplish set goals

(4) To do development of the
nation by the government

Who among the followings usually
have a dominance in Public
Services of India ?

(1) Generalists Officers

(2) Specialist Officers

(3) Educationists

(4) Military Officers

Which of the following is the main

objective (goal) of a public welfare

state ?

(1) To rule strictly

(2) Development of
and society

3) To frame laws

{4) To give full liberty to the people

Which of the following statements

regarding ‘New Public

Administration’ are true ?

(a) It rejects that public adminis-
tration which is value free.

() It rejects politics -
administration dichotomy.

© It rejects that public

administration which does not

support policy.

It is more or less bureaucratic

and hierarchical.

Select the correct answer from the

codes given below :

Codes :

(1) (), (b) and (c)

@) (@), (¢) and @)

(3) (a), (b) and (d)

4) (b), (c) and (d)

individuals

CY
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Which one of the following is not
an indicator of good governance ?
(1) Transparency

(2) Accountability

(3) Citizen-Friendly oriented

(4) Administrative state oriented

Globalisation and Liberalisation

will lead Public Administration

towards :

(1) Professionalism in  Public
Services

(2) Competition from  private
administration

(8) Bureaucratic flexibility
(4) All of these

Who among the following has
given thrust to ecological approach
in public administration to make it
comparative ?

(1) Fred W. Riggs

(2) Robert Dahl

(3) Peter Blau

(4) Dwight Waldo

The principle of ‘Anonymity’ has
been directly derived from the :
(1) Principle of Legality

(2) Principle of collective
responsibility

(3) Principle of cabinet
responsibility / ministerial
responsibility

(4) Principle of  professional
responsibility

The process of eliminating demerits
of bureaucracy for sustainable
development has been called as :

(1) Unresponsiveness

(2) Debureaucratisation

(3) Inertia and rigidness

(4) Insensitiveness

Who among the following has
conceived the ‘Linking Pin Model’
of orgamisation in  Public
Administration ?

(1) Herbert Simon

(2) Chester Barnard

(3) McGregor

(4) Likert
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Which of the following statements

about merits of seniority based

promotion system is not correct ?

(1) It promotes competition and
merit among the employees.

(2) It enhances the morale of
personnel.

(3) It is a fair and simple method
of internal recruitment.

(4) The administration gets
benefits of services of
experienced personnel by it.

According to Chester Barnard,

what 18 not included in

organisational behaviour ?

(1) Common purpose

(2) Willingness to co-operate

(3) Ecology of organisation

(4) Communication between
individuals

Who gave the statement that “An

interview can be called a front-end

meeting of individuals on certain

topics” ?

(1) C.P. Kothari

(2) M.S. Basu

(3) Goode and Haat

(4) P.V.Young

Pure Research emphasises on :
(1) Knowledge growth

(2) Future

(3) Study

(4) Utility

Who opined that
authority is an illusion” ?
(1) Chester Barnard

(2) M.P. Follet

(3) Max Weber

(4) Henry Fayol

“Ultimate
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47. Who believes that public and

private administration have no
difference ?

(1) Herbert Simon

(2) R. Shelton

(3) Sir Josia Stamp

(4) Paul H. Appleby

The principles of bureaucracy as
propounded by Max Weber does
not include

(1) Hierarchy

(2) Impersonality

(3) Rules and Regulations

(4) Profit

Who among the following has been
the prime advocate of social skills
for better civilisation ?

(1) Elton Mayo
(2) Herbert Simon
(3) A.H. Maslow
(4) M.P. Follet

Who among the following 1s
credited as ancient thinker of
comparative administration ?

(1) Kautilya

(2) Plato

(3) Julias Ceaser

(4) Aristotle

Which one of the following is not a

conceptual approach in Comparative

Public Administration, as suggested

by Ferrel Heady ?

(1) General System Model Building

(2) Middle Range Theory
Formulation

(3) Normative Thought

(4) Development Oriented

‘The Research which is related to
obtaining information about an
event’ is called as :

(1) Experimental Research

(2) Exploratory Research

(3) Descriptive Research

(4) Diagnostic Research



53.

54.

55.

56.

57.

58.

Ta.dl. e % gEn fefaies § )
I T T T AT 1 HE TE 8 ?
(1) otz frmtor

(2) iia fmion (3792) 3q goma &
(8) ST Hgu ST

(4) DRI AT e W1 B
WA, Be & Wi qur wdr grel
Tl o withfera i R -

(1) @qg &

(2) T =R

3 Dfawfm

(4) TR HT TI

TRIRE TR 1 IgE @ I8 § fe

T i e -

(1) Il & TR Tgv A H

(2) Wt % 3T Y9 & T §
REkC -

(3) & ugRmEbHl H TGl B Rl Bt §

(4) Ffis I

freaifea 4 @ PR ol g

AT R 39 “safwat & daa e

HTamfena ¢

(1) EEEcarel  (2) arAsfa

(3) TRARE  (4) TeARNA

TRITEH 1 3T mew ¥ wegEet TR

Bt B

(1) YRR (2) T

(3) weENMRY  (4) IRBRIRY

fefafes & @ s @1 W @

SRl & w92l € 7

() fodw st Fawr &g g

(2) AT IeRIHT

(3) fafma @t wRew @ & $
LIRCREILI]

(4) =R 6 saREdEaT

i
l

(U p—————— A A

o
N

53.

54.

56.

58.

According to L.D. White, which
one of the following is not a
function of Line Agency ?

(1) Making decisions

(2) Suggesting policy inputs

(3) Taking responsibilities

(4) Seeking efficiency and economy

The thoughts of M.P. Follet on
power and authority do not
include :

(1) Group Authority

(2) Circular Behaviour

(3) Law of Situation

(4) Use of Integration

The main feature of the imtial

training is that, it is given

(1) before accepting the
responsibility of the candidate.

(2) during the service time of the
officer in the middile of a service.

(3) when the officer is to be
promoted.

(4) before the selection of the

candidate.

Who among the following has
criticised classical theory and named it
as “Organisations Without People” ?
(1) Dwight Waldo

(2) Warren Bennis

(3) Herbert Simon

(4) Elton Mayo

The term ‘“Through proper channel’
is used in administration for

(1) Delegation (2) Co-ordination
(3) Hierarchy (4) Motivation

Which one of the following fact is
not related to globalisation ?

(1) Opening up to foreign capital
Iinvestment

(2) Import liberalisation

(3) Exchange rate adjustment and
rupee convertibility

)

Inconvertibility of rupee
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The Fusion process theory of Chris
Argyris does not include :

(1) Socialising process
(2) Maturity process

(3) Fusion process

(4) Personalising process

Which one of the following is not a
type of administrative
decentralisation ?

(1) Functional Decentralisation
(2) Individual Decentralisation
(3) Geographical Decentralisation
(4) Horizontal Decentralisation
Who has opined that New Public
Management is a third way
between public and private
administration ?

(1) U.A. Gunn

(2) P. Hoggett

(3) R. Rhodes

(4) Osborne and Gaebler

What is correct about the constraints
of development administration in
developing countries ?

(1) Political Instability

(i1) Lack of resources

(iii)) Committed bureaucracy

(iv) Cultural hesitants

(1) (@), () and (i)

(2) (1), (111) and (iv)

(3) (), (u11) and (iv)

@) (), () and Gv)

Which one of the following statement

is not true about co-ordination ?

(1) Appleby has classified it in
internal and external.

(2) Follet accepts conflicts as a
bad tool for organisational
betterment.

(3) James Mooney declares it as a
first principle of organisation.

(4) H. Simon has categorised it in
procedural and substantive.
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Public policy is “Authoritative
allocation of values for the whole
society”. Who gave this statement ?

(1) David Easton
(2) Peter Odegard
(3) Woodrow Wilson
(4 Y. Dror

The word ‘Guillotine’ in context of
Budget refers to

(1) Voting Demands

(2) Finance Bill

(3) Appropriation Bill

(4) Charges of consolidated fund

Which one of the following option is
correct about Industrial activities
enlisted by Henry Fayol ?

(1) Technical, Industnmal,
Economic, Auditing,
Managerial and Security.
Managerial, Industrial,
Financial, Social, Economical
and Security.

Technical, Commercial,
Financial, Security,
Accounting and Managerial.
Financial, Economical,
Industrial, Managerial,
Accounting and Security.

@)

3)

4

Which of the following pairs is
mismatched in terms of New
Public Management ?

(1) Lane & —Market based

Rosenbloom Public

Administration

— Entrepreneurial
Government

—Good Government
by State

—New Taylorism

(2) Osborne &
Gaebler
(3) P. Hoggett

(4) C. Pollit
59
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“Line and Staff are
characterisations of authonty
relationship and not departmental
activities.” This statement is
attributed to

(1) L.D. White

(2) Oliver Sheldon

(3) Albert Lepawsky

(4) Koontz and O'Donnell

From among the following Human
Relations  Approach is not
advocated by

(1) Warren Bennis
(2) Fred Riggs

(3) Rensis Likert
(4) Chris Argyris

Scientific Management Principle of
F.W. Taylor believes that :

(1) Harmony cannot be
established in  Industrial
organisation.

(2) Individualism must be

ensured in industries.

3

Time, motion, fatigue are not
related with production.
Standardization of each task

and activity leads to overall
development.

C)

Who among the following is not
included in Scientific Management
Movement ?

(1) J.D. Turner
(2) C.G. Barth
(3) H.K. Hathaway
4) M.L. Coske
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Which one of the following is a

function of zero-base budgeting ?

(1) Throw past everything out and
start all over again.

(2) Evolving feedback mechanism
under each programme and
activity

(3) Establishing a  functional
classification

(4) Establishing quantitative

hours of performance

Which one of the following is not a
type of supervision ?

(1) Urgent and delayed

(2) Line and Functional

(3) Single and Plural

(4) Substantive and Technical

The audit of the accounts of the
union and of the states is a subject
of which of the followings ?

(1) State List

(2) Residuary powers

(3) Union List

(4) Concurrent List

Who is the author of the book
“Papers in Comparative Public
Administration” ?

(1) F.W. Taylor

(2) Fred Riggs

(3) Henry Fayol

(4) Ferrel Heady and Sybil Stokes

Who among the followings is the
author of the book “Frontiers of
Development Administration” ?

(1) Edward Weidner

(2) F.W. Riggs

(3) V.A. Pai Panandikar
(4) John D. Montgomery
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. A social research mainly depends

on

(1) Available books

(2) Researcher

(3) Nature of the problem
(4) Research supervisor

Which one of the following is not a
feature of prismatic society as
given by F.W. Riggs ?

(1) Heterogeneity
(2) Formalism
(3) Continuity
(4) Overlapping

The concept of ‘Policy Sciences’
was first formulated by

(1) Geoffrey Arend

(2) Y. Dror

(3) Carl Frederick

(4) Harold Lasswell

Which one of the followings is not
directly associated with the
process of policy formulation ?

(1) Cabinet Secretariat

(2) Central Secretariat

(3) Prime Minister’s Office (PMO)
(4) Government Directorates

Which one of the followings is
primarily concerned with the
process of policy implementation ?

(1) Chief Minister

(2) State Cabinet Secretariat
(3) State Secretariat

(4) State Directorates
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Ethno Nationalism concept of F.W.
Riggs has a notion that :

(1) America does not face the
problem of ethnicity.

(2) It is a problem of languages.

(3) Diversity is the root cause of
ethnicity.

(4) Ethnicity is not an issue for
modern societies.

The prismatic ‘Sala’ model of Riggs
1s related to

(1) Developed countries
(2) Developing countries
(3) Traditional society
(4) Modern society

Which one of the followings has

not been a trend of Comparative
Public Administration ?

(1) Normative to Empirical

(2) Ideographic and Nomothetic
(3) Non-ecological to Ecological
(4) Fused to Prismatic

Who among the following is
considered as the founder of the
“Science of Public Administration” ?

(1) Lorenz Von Stein
(2) Dwight Waldo
(3) Woodrow Wilson
(4) Y. Dror

Which one of the following is not an
essential element of delegation ?

(1) Authority

(2) Responsibility
(3) Work

(4) Motivation
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According to F.W. Riggs in which
of the following societies market
and conflicts interact with each
other and create a situation of
value uncertainty ?

(1) Fused society

(2) Prismatic society

(3) Diffracted society

(4) Democratic society

The term ‘Hierarchiology’ has been
coined by

(1) Henry Fayol

(2) L.J. Peter and Raymond Hull
(3) Earl Letham

(4) Pfiffner and Sherwood

“Development Administration is
primarily concerned with the task
and processes of formulating and
implementing the Four P’s
Policies, Plans, Programmes and
Projects.”

This view has been expressed by :
(1) Donald C. Stone

(2) Edward Weidner

(3) Fred W. Riggs

(4) Merele Fainsod

Which one of the following is the

correct meaning of “Positive

Recruitment” ?

(1) Recruitment for  welfare
administration

(2) Special Recruitment for SC
and ST

(3} Takes definite steps to attract
the best qualified and most
competent candidates

(4) Recruitment through
interview only

The marks for interview for the

Indian Administrative Service

(IAS) examination is fixed as :

(1) 200 2) 250

3 275 (4) 300
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Which one of the following is not
an on-the-job training method ?

(1) Vestibule Training

(2) Apprenticeship

(3) Mentoring

(4) Job Rotation

Which one of the following is not
correct regarding the objectives of
administrative development ?

(1) To bring desired change in the
administrative set-up.

(2) To ensure work culture in
public organisations.

(3) To make administration free
from the environmental
effects.

(4) To bring desired changes in
the administrative procedures.

The book  ‘Motivation and
Personality’ published in the year
1954 has been written by :

(1) McGregor

(2) A H. Maslow
(3) Nicholas Henry
(4) Peter Drucker

Who among the following is known
as the father of American
Humanism ?

(1) Douglas McGregor

(2) Rensis Likert

(3) Fredrick Herzberg

(4) Abraham Maslow

In general, globalisation means

(1) By integrating the state
economy with local economy.
By integrating the state
economy with district economy.

)

(3) By integrating the economy of
the country with world
economy.

(4) By integrating the national

economy with state economy.
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key role of public administration

in developing countries like India ?

(1) Social-Economic
reconstruction’

(2) Participatory management

(3) Law and order maintenance

(4) Revenue collection

Which one of the following is a
method of primary data collection
in social research ?

(1) Published Documents

(2) Personal Documents

(3) Daily Diary

(4) Schedule

According to Luther Gulick the

four ‘P bases of organisation

include :

(1) Purpose, Process, Persons, Place
(2) Process, Place, Persons, Points

(3) Process, Persons, Purpose,
Punishment

(4) Purpose, Policy, Process,
Persons

Which one of the following

agency of Public Administration
exercises powers directly in the
Government ?

(1) Line Agency

(2) General Staff Agency

(3) Auxiliary Staff Agency

(4) Technical Staff Agency

The New Public Service model

does not believe in :

(1) Direct market link of common
man services

(2) Public interest and citizen
service

(3) Importance and value of people

(4) Strategies in a democratic way
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102. Which of the following is not a way
by which the media influenced

public policy ?

(1) Focussing attention on
accountability of government
officials

(2) Participating in politics

(8) Providing forum for opposing

view points
Focussing attention on issues

@

When was the New Liberalised
Economic Policy announced

103.

n
India ?
| (1) 1990 (2) 1991
i (3) 1992 (4) 1993
104. In terms of co-ordination which
definitional pair is mis-matched ?
(1) Seckler — Inter relationship
Hudson among various
parts of the work
i (2) J.D.Mooney — Orderly
1 arrangement of
group efforts
3) J.C. — Integration of
Charlesworth  several parts
(4) L.D. White — Process of
Government
policies

105. Who among the following is the
author of the book “Foundations of
behavioural research” ?

(1) F.A. Kerlinger
@) P.V. Young

(3) Goode and Hatt
(4) Alfred J. Cahn

106. Which one of the following is not a

source of primary data collection ?
(1) Interview

(2) Questionnaire

(3) Schedule

(4) Research Journal
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Which one of the following

statement is not correct about

Hypothesis ?

(1) Hypothesis is the ulfimate
goal of research.

(2) Shows the relationship
between facts and reasons.

3 It is a guidance for the
researcher.

(4) It is a presumption at initial
level of research.

Who among the following is the

author of the book “Reinventing

Government” published in 1992 ?

(1) Dawvid Easton

(2) Thomas Dye

(3) David Osborne and Gaebler

(4) Christopher Hood

“Policy and Administration are

like political twins children which

cannot be separated.” Who gave

this statement ?

(1) David Easton

(2) Y. Dror

(3) Peter Odegard

(4) Thomas Dye

“A Good Government is Mini

Government.” Who made this

statement ?

(1) J.M. Pfiffner

(2) Herbert Simon

(8) David Osborne

(4) Niskanen

Which one of the following

countries started ‘Action Research’

first ?

(1) India (2) Japan
(3) America (4) France
.In the context of American

Administration, which one of the
following pairs is mis-matched ?

(1) Privacy Act - 1974

(2) Sunshine Act - 1976

(3) Whistle blowers - 1989
Protection Act

(4) Freedom of - 1990
Information Act
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“Science is concerned with the
method rather than the subject
material.” Who among the
following made this statement ?

(1) Barnard Shaw

(2) Karl Pearson

(3) Stuart Chase

(49) Robert Dahi

Who among the following has a
significant contribution in the field
of development administration ?
(1) L. Urwick

(2) Wiedner

(3) Elton Mayo

(4) Henry Fayol

What is ‘Exit Policy’ ?

(1) Removing or
industries

(2) Put polluting industries out of
the cities

3)

(4)

selling sick

Keeping children away from
dangerous industries

Keeping foreign multi-
nationals out of the country

Which one of the following
thinkers attributes to make a sure
difference between “Policy and
Administration” ?

(1) Paul H. Appleby

(2) Y. Dror

(3) Woodrow Wilson

4) F.J. Goodnow

Who among the following stated
that, . “Negative result is as
important as positive result for
any scientist” ?

(1) P.V. Young

(2) Galton

(3) Fred Kerlinger
(4) Robert Chamber
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Which one of the following is not a
feature of New Public
Administration ?

(1) Relevance

(2) Values

(8) Social Equity

(4) Inertia to change

Which one of the following is not a
quasi-judicial body in India ?

(1) Central Administrative
Tribunal
(2) State Civil Services Appellate

Tribunal
Income Tax Appellate Tribunal
District and Sessions Court

3)
4)

Which one of the following
approaches relate to the study of
relationship between the system
and its environment ?

(1) Empirical Approach
(2) Ecological Approach
(3) Behavioural Approach
(4) Classical Approach

‘Information Energy Model’ in
comparative public administration
has been propounded by :

(1) F.W. Riggs

(2) Talcott Parsons
(3) John T. Dorsey
(4) R. Likert

Which one of the following is a
type of random sampling ?

(1) Quota Sampling

(2) Multi stage Sampling
(3) Convenience Sampling
(4) Purposive Sampling
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Which one of the following theories
assumes that men lack ambition
and are resistant to change ?

(1) Theory X

(2) Theory Y

(3) Theary ‘Z

(4) ‘Two Factor Theory’

Which one of the following
statements about Theory Y style
of leadership is not correct ?

(1) It promotes better attitudes
and morale.

@

It discourages centralisation
in administration.

It discourages shared
leadership responsibility.

It calls for sub ordinates to
exercise self control.

3

4

The Science of ‘Control
‘Communication’ is known as :
(1) Gang Plank

(2) Feedback

(3) Cybernatics

(4) E-Governance

and

Consider the following statements :

A. Administrative adjudication is
more convenient and
accessible compared to
ordinary courts.

Administrative tribunals
observe uniform procedure.

Which of the statements given
above is/are correct ?

(1) Only A

(2) Only B

(3) Both Aand B
(4) Neither Anor B

B.
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developed the doctrine of Rule of
Law ?

(1) Herman Finer

(2) Lucian Pie

(3) B.R. Ambedkar

(4) AV. Dicey

Who amongst the following has
suggested T-Group Training for
improved effectiveness of
employees in organisation ?

(1) Abraham Maslow

(2) Elton Mayo

(3) Chris Argyris

(4) McGregor

According to Herzberg, motivating
factors include :

A. Pay (salary)

B. Security

C. Recognition

D. Achievement

Select the correct answer from the
codes given below :

(1) Aand B

(2) Aand C

3) B,CandD

(4) CandD

“If our civilization fails it will be
mainly because of a breakdown of
administration” Who among the
following has given this statement ?
(1) L.D. White

{2) B. Donham

(3) Alexander Pope

(4) Edmund Burke

Which one of the following is not a
product of Delegated Legislation ?
(1) Rules

(2) Regulation

(3) Bye-law

(4) Parliamentary Act
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132. In

. Which

. “By Public

Public
introduced
separate discipline

which country,
Administration was
first as a
(subject) ?
(1) England
(2) France
(3) United States of America
(4) India

one of the following

statement is correct in relation to

the ‘Nature’ of Public

Administration ?

(1) Public Administration is a
Science.

(2) Public Administration is an
Art.

(3) Public Administration cannot
become Science.

(4) Public Administration 1is a
Social Science.

Administration is
meant in common usage the
activities of the executive
branches of national state and
local governments.” Who has given
the above definition of Public
Administration ?

(1) Simon

(2) Pfiffner

(3) Dwight Waldo

(4) Marshal Dimock

. Which subject matter of Public

Administration is related with the
concept ‘POSDCORB’ ?

(1) Civil Service
(2) Budget
(8) Scope
(4) Importance
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138.

| 1386. Importance of Public Administration

bhas increased on account of the
factors :

(a) Welfare state

(b) World wars

(¢c) Economic planning

(d) Technological Advancement

Select correct code from the
following :

1) (a), (b}, ()
@ ®), @, d
3 @, @, d
@ (@, b), ©, D

“The period of crisis of identity” of
Public Administration as a
discipline has been during :

(1) 1927 to 1937

(2) 1938 to 1947

(3) 1948 to 1970

(4) 1971 to 2005

Public Administration 1is not
different from Private
Administration in respect of :

(1) Productivity

(2) Legislative Responsibility
(3) Financial Returns

(4) All of these

. The principal difference between

Public Administration and Private
Administration is based on :

(1) To earn profit

(2) Efficiency

(3) Public Responsibility

(4) Complexity in decision making
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140. Which among the following is

recognised as the first test book of

Public Administration ?

(1) Elements of
Administration

(2) Introduction to the study of
Public Administration

(3) Modern Public Administration

(4) Public = Administration —
Theory and Practice

Public

. Who among the following scholars

is associated with the Politics —
Administration dichotomy ?

(1) Max Weber

(2) Woodrow Wilson

(3) Dwight Waldo

(4) Herbert Simon

. The study of ‘Administrative Law’, in

Public Administration is basically
taken from the discipline of :

(1) Political Science

(2) Sociology

(3) Law

(4) Psychology

. The Discipline of Public Adminis-

tration is very much rooted in :
(1) Economics

(2) Psychology

(3) Sociology

(4) Political Science

. According to Luther Gulick the

bases of organisation are :
(1) Two (2) Three
(3) Four (4) Five

. Which one of the following is not a

characteristic feature of formal
organisation ?

(1) Social Relationship

(2) Unity of Command

(3) Delegation of Authority

(4) Clear Division of Labour
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. Which one of the following 1s not

considered as a basic element of
organisation ?

(1) Purpose

(2) Process

(3) Authority

(4) Person

Which one of the following 1s a
characteristic feature of an
Informal Organisation ?

(1) Personal Relation

(2) Rule based behaviour
(3) Hierarchical system
(4) Well planned system

of
been

How many principles
organisation have
propounded by L. Urwick ?

(1) Five
(2) Six
(3) Seven
(4) Eight

A Hierarchical organisation
generally assumes shape like a :

(1) Circle

(2) Pyramid
(3) Square
(4) Hexagonal

Which one of the following is not a

determinant element of the limits
of control ?

(1) Work
(2) Time
(3) Place
(4) Sub-ordinate
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